O SBICLERK 20230

MOCKTEST
PAPER - 1 ?
EXAM @ 92 29 ST&Y 3@ .




SBI CLERK 2023 1.In these questions, relationships between different elements are shown

in the statements. These statements are followed by two conclusions.

1. 1 9201 ® shel § fofsr= deat o S gy enrfu e @) ga heAt Sk g &
Statements: A>B<C=D;B<P;Q2C

Conclusions:

.LQ2B

1.DSQ

1. If only conclusion I follows.

2. If only conclusion II follows.
3. If either conclusion I or conclusion II follows.

4. If neither conclusion I nor conclusion II follows.

5. If both conclusions I and II follow.



SBI CLLERK 2023 2.In these questions, relationships between different elements are
shown in the statements. These statements are followed by two

conclusions.

2. 31 9T ° sl H foafs= deal o o= geier 91ie 7Ta €| 9 el ok
a1 &1 e feperd @

Statements: CSAS<B;B<P;Q=2P

Conclusions:

[LAZ2P

II.CSQ

1. If only conclusion I follows.

2. If only conclusion II follows.

3. If either conclusion I or conclusion II follows.

5. If both conclusions I and II follow.



SBI CLERK 2023

3.In these questions, relationships between different
clements are shown in the statements. These statements
are followed by two conclusions.

3. 31 9T H Rl H [Sf= dcdi o o= Geier eenie U 8| 39
YT o A1G af feh Fehed ©

Statement: X2Y2ZSW;PSW;Z>S
Conclusions:
[.X>S
I.PSY

1. If only conclusion I follows.

2. If only conclusion II follows.
3. If either conclusion I or conclusion II follows.
4. If neither conclusion I nor conclusion II follows.

5. If both conclusions I and II follow.
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4.Statements:

No tonic is a cider./ @18 2if-eh ATESL TR =.

Only a few aisles are mounds./ A D TR 3
All mounds are cider./ T+t It T3S 2|

CONCLUSIONS:
1. All aisles can never be tonics.
Tt et st oft STt T2 & gehd|

2. Some tonics being mounds is a possibility.
% 21k o SIct B shl HHTEHT o

3. All cider can never be aisles.

ot grget Fuft oft i 7€t &1 TeRd|
4. All tonics can never be aisles.

aft 3ifeen et oft mrferamt = &1 weral

5. Some mounds are definitely not aisles.

F ot HiEd &9 9 T 72 2
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S.Statements:

Only a few denims are syrup./ I D ST faTg 2
No syrup is an acorn./ %s T sIeTd =T %l &1 2.
All acorns are denims./&¥T ST bl B fm 2l
CONCLUSIONS:

1. Some syrup are definitely not denims.

v oxd st +ft 2fm 72T 81 wohd.

2. Some syrup are definitely not denims.
%9 by i s 8 < 8 &
3. Some denims are not syrup.
%D ST ToeT 721 2.
4. Some acorn are not denims.
D Tl I B SHH 7 8,
5. All denims being syrup is a possibility.
ot S = fod g9 1 g B
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6.Statements:

Only a few times are real./ Fhad D & THT Irlae 8id g
Some real are not luck./ FS T T &l &

No charade is a time./ 1S A2 AT L] B,

Some charades are luck./F® e AT

Conclusions:
I. All luck can never be times./@¥t YT Faft oft o0 27 &1 Fahd|

II. Some real are definitely not charades./$s 9 dfaeh s &9 9 e 7= 2
1. Only II follows

2. Only I follows

3. Neither I nor II follows
4. Either I or II follows

5. Both I and II follow
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Directions : There are eight members in a family. For
every member of the family has either both or none of the
parents were alive. N 1s the father of S and 1s married to T.
U is the sister of K. J 1s the granddaughter of T. R 1s

married to U's son. P is the only brother of J.

53T : e gfER 7 3118 9=y 8| Uiar o e U&= o foru
7l SET AT ATGT-T9aT § 9§ ohig oft Sfifaa 7€t om N, S ot fuar
AR TUfafRa R U, KA TgT2l ), TR DA RIR, Uk
= ¥ foraEd 21 P, J 3T SohaiidT wTS 2

7.How 1s P related to T?/ P, T 9 fore JerT Geifera 87

1. Daughter

Grandson

2

3. Son-in-law
4. Nephew
5

Cannot be determined
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Directions : There are eight members in a family. For every member of
the family has either both or none of the parents were alive. N is the
father of S and 1s married to T. U is the sister of K. J 1s the granddaughter
of T. R 1s married to U's son. P is the only brother of J.

e . weh YR H 3118 4T 2| IRER o Yo Ues o foTu Ir ar SFy 3
ora-forar & & i off Sffera 7€ om N, S @1 fUa @ of T ® feanfea 21 U, K
I 81 J, T 3 At 81 R, U o T ¥ foaizd 21 P, J 3T Shai il TS &
8.How is U related to P?/ U, P ¥ for TonT Geifera 89

1. Mother-in-law

2. Mother

3. Aunt

4. Sister-in-law

5. Cannot be determined



SBI CLERK 2023 Directions : There are eight members in a family. For every

member of the family has either both or none of the parents were
alive. N 1s the father of S and is married to T. U is the sister of K. J
is the granddaughter of T. R is married to U's son. P is the only
brother of J.

33T : U UNER 7 3718 e 2| UNaR o Tcdeh Uesy o foiu I al g1
T ATT-Toar | 9 kg ot Shifara 92 om N, S &7 fuar 8 3t T 9 faenfea
81U, K AT &1 81 J, T Al Uil 81 R, U s O 9 ferarnfea 81 P, J o

LGOI R

9.How 1s K related to J./ K, ] O Tor" JehR Hslerd 27
1. Aunt
2. Uncle

3. Father-in-law

4. Sister-in-law

5. Cannot be determined
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Directions : Beanie walks 20 m towards East from her house and
reaches point K. Then, she turns left and walks for 10 m and reaches
Minnie's house. She then turns left and walks another 10 m and reaches

point L. She then turns left and walks 15 m to reach Leny 's house.

ST 19 B H G oAl A 20 WIS =erdi 8 I feig K ot ag=rel 21 e, e
TG Al & I 10 Hiet =ardt @ 3T i=f & = ag=idt 21 fot a8 amff 31K
Tt & 3T T 10 Hiet Tert & 37 folg L W ag=rd! 21 ot a1 st 31
Tl § R 15 Hie IRt o1 o SR qg e o
10.What is the shortest distance between points L and K?

foig L I K o sft=r =gm gl = 22

I. 10m

12 m
20 m
152 m
10V2 m

A A



SBI CLERK 2023 Directions : Beanie walks 20 m towards East from her house and reaches
point K. Then, she turns left and walks for 10 m and reaches Minnie's
house. She then turns left and walks another 10 m and reaches point L.

She then turns left and walks 15 m to reach Leny’ s house.

ST 31U B Y U oAl ST 20 Wi =erdi 8 I feig K 9t qgrdl 21 o6, o/ ol
Tl @ 3R 10 Het et & TR =t o =X age 81 it a5 ot TR qedt ©
3T TR 10 HieT et & ST foig L X agre 21 ot a1 st 311t gt 8 3
15 HieX Feteht o1 o =T g 2
11.In which direction 1s Minnie's house with respect to Leny 's house?
AT o O o Teey | =T oh1 o) fore femm 4 22
. North
North-east

South-west
North-west
East

I



SBI CLERK 2023 Directions : Beanie walks 20 m towards East from her house and reaches
point K. Then, she turns left and walks for 10 m and reaches Minnie's
house. She then turns left and walks another 10 m and reaches point L. She

then turns left and walks 15 m to reach Leny's house.

ST 3T ST e sht AT 20 HieT Fefdt ® AN feig K 0 ag=rdt 21 Tt a1 =g
Tt & 3R 10 Hiet et & 7R fir=t o =R a5t 21 ot a8 ol o aeft ©
ST TORT 10 HieT <rerelt & SR foig L ox agerd 21 i a1 ot 7 et @ 31T 15
TieT =TTt T oh B TRl gl

12.1f the multiplex is 10 m to the east of Leny 's house,

then which of the following is true?

1.Beanie's house 1s 5 m to the north of the multiplex
2. Minnie's house is 20 m to the north of the multiplex
3. Point K 1s 5 m to the north of the multiplex

4. None of the given statements are true

5. Beanie's house 1s 15 m to the north-west of the multiplex



SBI CLERK 2023 Directions : Eight people P, Q, R, S, T, U, Vand W

lived in an eight floored apartment numbered from 1-8
( 8 being the topmost floor). It 1s known that Three
people lived between S and W where S lived above W.
Q was on the 3™ floor. U lived above T. R who doesn't
live on the topmost floor, lives immediately above V
who lived on an odd floor. P lived on the bottom most
floor.

e AP, Q, R, S, T, U, V 3 W Tsh 313
HTSTeT dTet STUTCHE B Tad &, Toieh! 9@ 1-8 (8 ad
ST AN ) W8l IE A & Toh A AT S IR W s ot
Ed 9T S, W ah S T&dT 9Tl Q dfiadl wfster we om U,
T & FW T 2l R ST ge® Fu8 6 WA= a1, V

o 31k HUL L&A1 & ST Ueh fIuH |t 9T a1 81 P 9eid
et JiTel Wtgar @




SBI CLLERK 2023 Directions : Eight people P, Q, R, S, T, U, V and W lived in an eight
floored apartment numbered from 1-8 ( 8 being the topmost floor). It 1s

known that Three people lived between S and W where S lived above W. Q
was on the 3" floor. U lived above T. R who doesn't live on the topmost
floor, lives immediately above V who lived on an odd floor. P lived on the

bottom most floor.

13.0n which floor did T live?/T e HiSTer 9 T&aT 912

1.2

2.4%

3.5t

4. 6"

5. Eithercord




SBI CLERK 2023 Directions : Eight people P, Q, R, S, T, U, V and W lived in an eight
floored apartment numbered from 1-8 ( 8 being the topmost floor). It is
known that Three people lived between S and W where S lived above W.
Q was on the 3 floor. U lived above T. R who doesn't live on the
topmost floor, lives immediately above V who lived on an odd floor. P

lived on the bottom most floor.

14.How many people lived between U and W?
U 3R W o st fehae it W& 292
.

W o O

2
3.
4.
5



SBI CLERK 2023 Directions : Eight people P, Q,R, S, T, U, V and W lived in an eight
floored apartment numbered from 1-8 ( 8 being the topmost floor). It is

known that Three people lived between S and W where S lived above W.
Q was on the 3 floor. U lived above T. R who doesn't live on the
topmost floor, lives immediately above V who lived on an odd floor. P

lived on the bottom most floor.

15.Who among the following lived adjacent to W ?

fAafafga 5 9 i W ok THehe Tgdr am

v 5 < ®

|
)
3.
4
5

. Bothband d



SBI CLERK 2023 Directions : Eight people P, Q, R, S, T, U, V and W lived in an eight
floored apartment numbered from 1-8 ( 8 being the topmost floor). It 1s

known that Three people lived between S and W where S lived above
W. Q was on the 3" floor. U lived above T. R who doesn't live on the
topmost floor, lives immediately above V who lived on an odd floor. P
lived on the bottom most floor.

16.If S and V interchange their places, then how many people live

between V and Q

i S 3RV AT T 96 o &, af V 3R Q o s fehae STk &d

a2

A e
S = B W N
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Directions : Eight people P, Q, R, S, T, U, V and W lived in an
eight floored apartment numbered from 1-8 ( 8 being the topmost
floor). It is known that Three people lived between S and W where
S lived above W. Q was on the 3" floor. U lived above T. R who
doesn't live on the topmost floor, lives immediately above V who

lived on an odd floor. P lived on the bottom most floor.

17.Which of the following is odd from the

rest?

Arferfaa 5 9 9 91 anferat & =1 22

DN A W N =
Hc:g;cm
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Directions : Seven friends - P, Q, R, S, T, U and V are waiting in
queue for voting towards voting machine in south direction.

V was standing in a queue immediately behind P. Four persons were
waiting in between P and U. One person was waiting in between R
and T. S is waiting in front of T. More than two persons were waiting
in between S and V. The number of persons who wait in front of Q 1s
one more than the number of persons who wait behind R.

fesr . 9@ ™ - P, Q, R, S, T, U 3R V <ot fawm o aifer aefia & AR
AAdE o foTt Far o TeftedT oL 2 B

V, P o 3ich T Ueh Shd R H @WeT AT| P 3T U o sl H IR ATk T &7 hl
R I R 3 T o o= | Ueh ATk T HC T AT S, T oh " T 18T ot
@ S 3RV & o= o &1 & Afereh s Tl S & A Q o 9

T TeqT S STt SATRAT shl AT, R o i TtelT ohid dTed S <ha ohl

GET O Teh 37105k 2




SBI CLERK 2023

Directions : Seven friends - P, Q, R, S, T, U and V are waiting in
queue for voting towards voting machine in south direction.

V was standing in a queue immediately behind P. Four persons were
waiting in between P and U. One person was waiting in between R and
T. S 1s waiting in front of T. More than two persons were waiting in
between S and V. The number of persons who wait in front of Q 1s one

more than the number of persons who wait behind R.

18.Who among the following was the second last person to
vote?

(eferiard o & i HaeT i oTeT qer ifw s2fh 12
1.V
2. S
3.P

4.Q
5.T




SBI CLERK 2023

Directions : Seven friends - P, Q, R, S, T, U and V are waiting in
queue for voting towards voting machine in south direction.

V was standing in a queue immediately behind P. Four persons were
waiting in between P and U. One person was waiting in between R
and T. S is waiting in front of T. More than two persons were waiting
in between S and V. The number of persons who wait in front of Q is

one more than the number of persons who wait behind R.

19.How many persons were waiting behind T?
T o e fohae safch Teterr S 1@ 92

1. One
2. Two
3. Three
4. Four
5. None




SBI CLERK 2023

Directions : Seven friends - P, Q, R, S, T, U and V are waiting in
queue for voting towards voting machine in south direction.

V was standing in a queue immediately behind P. Four persons were
waiting in between P and U. One person was waiting in between R and
T. S is waiting in front of T. More than two persons were waiting in
between S and V. The number of persons who wait in front of Q is one

more than the number of persons who wait behind R.

20.Who among the following votes immediately after Q?
frefefigd § 9 19 Q o 3ok o1 I hLdT 7

1.T
2.P
3.V
4. S
5.R
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